1 FR29FEEFREHITIRR (ER30£E3[/31BHE)
(1) —me=st
(B EAM)
% A % H
B B FEBRLE A|UAFEEE B)| B)/(A) (%) |HERLLE (%) ® = FEIRLE (O)|XZHFEE (D)| (D)/(C) (%) | #ERLEE (%)
1 ™ 5] 5,861 5,887 100.4 33| 1 & = & 207 202 97.6 1.2
2 i H E 5 179 185 103.4 11 2 # % & 2,438 1,842 75.6 11.1
3 M F A X M &£ 7 8 1143 00| 3 R & -y 6,017 5,489 91.2 32.9
4 B OB B X F £ 14 23 164.3 01| 4 #& = & 2,319 1,916 82.6 115
5 HBAFREMBIXRMGE 9 23 255.6 01|[5 BEM K E X & 1,791 519 29.0 3.1
6 hHFEHE/BRIMTE 720 729 101.3 41| 6 ™ T & 375 300 80.0 1.8
7 LG ARRAE 6 7 116.7 00| 7 = /N =y 3,616 2,054 56.8 12.3
8 BEBERSMXfF & 40 51 1275 03| 8 A 3] 7 824 741 89.9 45
9 M A 4 Ol X F & 22 23 104.5 01| 9 % ] & 2,511 1,809 72.0 10.9
o H X O 3,638 3,725 102.4 210|(10 K & # 1B & 12 5 41.7 0.0
1 RBREXRFANRTE 4 4 100.0 00|11 & E =y 1,638 1,557 95.1 9.3
2a#EesrRVvEHESE 68 65 95.6 04[|12 3% X H £ 229 227 99.1 1.4
BHEAHERUF HH 428 404 94.4 23|13 % 3 & 12 0 0.0 0.0
WE E X H £ 3,358 2,784 82.9 15.7
15 & * H & 1,276 436 34.2 25
16 Bf P 1 A 39 38 97.4 0.2
17 & Bt & 30 29 96.7 0.2
18 #& A & 1,675 628 375 36
19 #& i & 1,244 1,244 100.0 7.0
20 & IR A 590 529 89.7 3.0
21 & 2,781 881 31.7 5.0
m A & & 21,989 17,703 80.5 100.0 m H & F 21,989 16,661 75.8 100.0
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(2) THDRARSR

(3) Al=Ft

(Bfr-BaBm[) (Bfi-BBA)
# H FHIRLE IRAEEE | R %) 2 & & |FHEZE E|WRAFZZE P(XZLEEE (G) F/E) @ | (G)/E) %)
T RO 2,556 2,608 443 EREERIREE 5,849 5,326 5,287 91.1 90.4
2 B EEE M 2,663 2,655 45.1 K B #Z & A 7 5 4 71.4 57.1
S EB ® EM 123 124 2.1 NHETKEFEE 587 450 394 76.7 67.1
T R G 335 314 5.3 BEREHKER 59 57 45 96.6 76.3
5 A & ® 21 22 0.4 TERKRER 3,883 3,794 3,486 97.7 89.8
6 # ™ Ft B 163 164 2.8 BHEmEER 462 456 451 98.7 97.6
a & (1~6) 5,861 5,887 100.0 a &t 10,847 10,088 9,667 93.0 89.1
REmRKEH 968 974 100.0 x BHFESD)




(4) DELXRE

© THRi29FEDRH (RRA) KR (B EJHA) © TR29FEDFEERHR (B4 EJHHA)
% KEEE | LIl | mREE | A E 4% Kk | LB | mwEs |
E OEXE IR O# 957 134 2,743 3,834 E X I & 887 124 2,733 3,744
Wle x5 g % 65 12 501 578 Wle 2 o g % 65 12 499 576
g | A B F 8 0 0 8| |4g |3 ¥Rl FM & 8 0 0 8
i 5t 1,030 146 3,244 4,420 it (A 960 136 3,232 4,328
B % & A 880 65| 3208  azs0| |E|[ |2 x m m 851 158] 3144|4153
B X|e 25 8 8 61 12 79 152| |Et|B |2 £ 4 &8 B 60 9 147 216
W OB OB X% 0 0 10 10 | (@A B 8 X 0 0 10 10
5 941 177 3,294 4412l | i B 911 167 3,301 4,379
i * E 384 0 22 406 |~
BE-BE#bE 0 0 0 0 LEAMEFIZE (A)—(B) 49 A 31 A 69 A 51
Rrzsanme 4 0 0 4
7 |—maswas 6 0 4 10 B E B E 7,821 889 6,665 15,375
A= HBE 0 0 110 110 ,—i wnoB B E 1,008 342 675 2,025
I 7 0 16 23| | & gﬁ ® LB T 0 0 0 0
¥ H 401 0 152 553| |4z H 8,829 1,231 7,340 17,400
BHRUBE 542 0 42 584 st & B T & & 3,492 380 4,170 8,042
T EXBEEES 160 54 211 425 ElR B & & 241 52 611 904
|l [—EEARRS 0 0 0 of ™ oB E W 1,475 191 2173 3,839
z 1) fth 0 0 11 RIBEIENE A & 3,099 352 3,023 6,474
H 0 g% 3 O 2 522 256| A 2637 A 1859
H 702 54 264 1,020 H 8,829 1,231 7,340 17,400




© FR29FEEDFHEHPITRRE o= hal)
X% KEEE | Lok | BREE | A

FHEBRE © 1,022 144 3,231 4,397

4z = #HOoE B D 1,030 146 3,244 4,420

* #1TE(D)/(C) (%) 100.8 101.4 100.4 100.5

" FEHRE © 994 181 3,337 4,512

i) * X HE&E P 941 177 3,294 4,412

g #ITEF)/(E) %) 94.7 97.8 98.7 97.8

FEHRHE @ 401 0 154 555

& = HOE B OH 401 0 152 553

* ITEMH)/(G) %) 100.0 98.7 99.6

* FEHEE (D 710 57 264 1,031

fJ * X FEE ) 702 54 264 1,020

g #ATEU)/D %) 98.9 94.7 100.0 98.9




